2% © 0 ~ = 0 ¢ S - c > TN "N 1] 0 - Q .p Q Q » o 8-
i b 8 o ® 35 D|IRS e85 2 S = 2% 2@ 3 N s 3 0 © © 0 o0
= 58 § S ¢ = Z |eos Na X © ® 3N 5 c S > ° @ ° ° o] by ©
“y EN S 3 5 8 S |eg 2g @ E © =29 Z2° S 3 g = 8 = = 2°g n o
s EL o 2 § 3 5|fe =5 5 E- &l 3 g 2 = g g &= N <
N o8 2 ¢ ¥ o D|eE SE 2 E £ g g © 3 €k 5 = 5% %S| ¥=® 0 "
a 2 8 © 5 2 B |Fw %un E ] e £ E > = 0 '° ' N © g 25 N X = o 0
= =y 2 E 2 5|84 o= s § 3= 3 g 8 29 = I s | EE O ® = = i kY]
2 3 2 ® 5 % RK|Fe =@g| - = X X & 4 g2 E o & E| &F >= © 2N o} ]
5 3 $3 32 sz g a| 3 S E[ S g ® 533 § 3 3|[2&% © 2 o S 2 c
- - & § 3§ 2 ] = N = = @ N @ @ TE-] O - NOREN - O N
3 2 g2 > R T8 L 25 ® w 0 X © 8 © £ T & _i = 9 = S —
g = 85 8 o2 2 3 2 Lol B T 2 F g o | g% o = Q= 0 So ©
g 3 EX 2§ % % I 3o | ¢ g 5|2 S £ .|%EY 0 c23| €| o
g ° 258 8 3 5 8| 3 23| § g 8| ¢ g o SNIlgos N 2% S| 9
2 3 fo 8 8 T B g == 3 25 | $ e n| g S w P50 €23 Nl ©
> 2 2§12 3 = Tes| & 35| 2 8 8¢ x 3 8<c(c¥e | ES5sl 2| < .
S 3 2 5 g g % o3| 8 iy $ cx [..O SRT o9 2 Y | v
X .3 o 8 3 > S 2 4 P o N O o X vy L ) [CRaR s O
= 20 s I ] ] \© = — heo] O, AN
LR =z = [ = hd T = >y \ NS . .
25 s c |EE 3 2 o )
> T s © 8 (-9 = 2 o < o
582 © n* |cT® Q = c >
852 yo= ‘@ “w o g :
® T LE O (@ mh > ® <
58 Se [—] P - “.Ha e O] (q\]
©3 S0 o = -
=H||E A H [E C it s 15 |8
L 2 o= - -— )
S <3< 1 m ,eM % W AN
-
© — wl
L]
L ol f
P _ —
<r L O
W N C ‘L
© il
A |
N (@)
\ O
| 5| £ \
-~ Q
8l gy
S
N8
3 >
3| Eo
m
O
~ 2
O ~ o)
< O 4
h\’AITAIAl ~
—
— — ¢ ~—
e IR L) — . : |
O
R
IR R R R IR R RN E
R L N T R - B S5 03 3 5 5 5 03
AR I I I T T L T S T T N RN R S mwvw
Y3 3 Yes N 3 ERERL B 39y 4 9 i
NN Yl P N er s 9 980 0 & 0 o
SRR r/>pmv¢ -~ N N N NN B R R S IR IR IR IR RN B 0 0 A W
I I g R T B R S R L S P
R R N ISP e e e e s 0By S
b 5 5 0 I R R R e A I R A R R E R N SN Yy
{ { / IR _ I AR S L S IR UE I L SRR IR IR SR , QV]
, WV, ) WV A S R I T N R S T —E (=)
P WV, EE ﬂﬁvcw , 7%7@& NN R T R O T T N N R S R
2 , S R O A T T T T TR KR <
/Lﬁvwv 5 T T T T T T T S S S
= I E
o g ot I T T N N S S R S
: 2 wy, =2 L~ R R R R I
_ WV T332 3 3 3 3 9 3
\NQ | -
m» ~ /Nmmw‘ CE N A 5 9
) , 7%7@% TN L s s s , =333 553
— - mﬂ),\ R e \ F R I I B S R
N N7 S A S5 33 9
- / D > 25 5\3 SRR \ Hu SRR
W@Wv WV 4 TV 74 SRR A IR RN
— | w M ﬁ&é 5 2 ) SR T N R S R S
7%7@ /Sumv IR - NI 5= 23 3 3 5 35 3
J \gumv 53399 395 Ly s 3y 5 By ) 5 N R R
% — = - % < SN P e e s s
m\V?V IV I I I B I Iy 3 R N SR A
1 = 2 b o v ol Y e e 0 0 A © R NE R R R
mw ) , S - LI T T A NN NN ) 2 A N T A
‘ = P ﬁﬂyam - I T T e ST BT S T T O @ T O N
, mwvx‘ O umv I N T T T T T S S S S g 3 5| Aﬂﬂww TN
M S L R T e T o N T T T T T S 12999 393 2022 9
= 5 ST e T T T T T T T S SR £ I N
g o8 wwwwv T T T T T W S S S S S S [ SR T BRI\
L 0 Elc \w\& - ﬂ\wv RN N N T T T T NE Y SRR T T R
9% mw W&\x ] b 3 3 9 3 3 9 3 3 3 NG 9 2 33 3 NF s s
L 5 T x /A/& S A A SRR IR T A T S S S
J mmmwwwﬂw = b 5 3 5 0 5 9 3 0 3 TN . - .
L o ) . .
0 — 55 5 G8'8Ls 5 5 : A
>0% A I I X AA-ll-llll T a——n
b.% me 2 mV 7 2 T N A A N T R : R —
< o @ . J S O N T A S ,
> wv, - Wm NMMHMN /ﬂycw D A R\
W c fvwv R R R A IR R
= T I SEJEE T
S R K5 2 2 2 3 2 9 3 3 2
5 2 A R A R AW N N N A AR R N L &
- ) WV ) S A T T N N S RS N S SRS 7
2 7ﬁ7¢w SR T N R S S S AT T N R N N\
S e A T R S ey B S
u%u%v )9 Asﬁw ROy T2 09 9 0 0 0 ) A\ 3
3 WMW%, DRI AN T R 53 3 g
- 9 e I R 5339 0 3 % e I I A —3 >
N : == WV =2 5L S N T AT 9 9 9 9 NPT 3 3 3 3 3 3 3 3 3 3 3 3y 3 o ¢W g
= TV , J ¢mMMMN S T T R T T T T S R R R I T T R /46 3 g
| 74 7%7@& b S R R I N A T T N R R R S T SIS N S S I I A L R 3 3
, , Vﬁyow va 5 S N T e A T T S S S ) S e SN SIS S S S 53 °
J — — g R T T T T R S e R A B R I R S I BN U EEE R RN S
J?u%v 3 B T T e I T I A ST A N S S S S S T S S S S I 5
> D) : R R T A T e S N R A NN S S S S S S ) E - 5
m\V?V 2 =4 S T e T T T T T B S R A I B S R N T T S B
= , 3 S T T A T T N T R R Y N S S N R S I ST 5
WW\ 53 ST T T T T T S S T S N N 3
umv b > IR I S S S A SN S S N T N SRS S N N AN S R NN N S L SN e i I ()
3 IEIE SRR A SRR A AN S R A NS ERE T U RS SR R S SRR AR R RS \SA 509 O
N b S I T T S T T T e T T T ST S S S S S I Y o DY -—
{ (= L g 55 9 3 9 5 3 9 3 3 9 3 0 3 3 3 3 3 3 3 3y a3y s s 2 S
] ) g : /MVQM¢ S T T T T T S R A S T S I S S S S R = M & 5
= =5 2, - ﬂﬁyox 5 S T T T T B A Y O KT I I AR A SR A 5 o
mw J > T h— S T T T T N T T S S S S S ST S S S S I S ¢Aw<w I 3 s ‘(O
J>bmv 3 N R 339933 9339933539339 93[0I TR D) >
7 R R R R R R R R N I AT T N T N T SR S » DI ~No ) e
m = 2 R R N I R I R e A R L R T Ay A L
fa =2 ¢ =2 L~ m R I I T I T TR IR RN A e 5 5
£ ., C I J 7%7@ S A T R R I S R I 3 O 9
~ ] Z ﬂﬁycw R R I T R R R R R A N - I BN I A/ 5 505 9 5
> ru%v e R A I I I I I I I I I IR O - 1R - R D S ROV RRRRE it
— \ R R I N I A A R A R R I A A ) WUM/ PN >y RN
- mV I IR I IR I TR SR T NE ST e W e 2 N L —3 3 WMM%, 5 )
( o I I I I I IR S N O S R Jov o L 3 3
WV 7 4 = 7 4 = NI I TE T T T T U N I I= 30> 5 /A%v 5 L 5
—5 ) J S T T T T T S T T S S : 53 5 5 e
- e > = )y
r g A I R N N =505 505 5 B I R 5 5
Vﬁvcw >u%v IR IR /s R R SR N 59 N b3 Y3 3 WV wﬂ&\_ S
u%v R %\V Y3 9 > sk 0y 3 ) mmv¢ 5 3 3
-y N SRR SRR 1 Ay Wwy =729 f DT
{ / 54 = b 3 3 9 9 R R g 3 5 e R
WV , wv, SRR SN 5 5 b /ﬂ/@ 5 ) )
)
TV =2, b 3 0 0 3 M4 R R R R N A o2 99 5 3 <
R T e O T T T A N N A s A I T T SR P S ©
va < SN R RN S N 5 — - AN T T R T <

MEGKOZELITES

INSSOY

172




	T-01 Helyszínrajz

